Algebra 2 Worksheet
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Section 7.5 - Solving Exponential and Log Equations #3 Period:
I. Rewrite the exponential equation so all the bases are the same. Then solve.
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IT. Solve by simplifying each logarithmic expression to a single logarithm and then rewriting in

exponential form.

5. 2+log,(5x+3)=5
\003:‘, (Sy-‘f?ﬂ =3

Q‘q - %X+3
Iy =GSx vy
240=Gx

[x= log/l

6. log(3x—1)= 2+log4

\03 (3&-1) 03‘-1- =k

C} ‘-{
Bv-—\
\D
100.= 222
3x—\ =4 p0

& 3% = o)

TEES
3

7. log5x—log(15.5)=2

‘°°\3 \2?‘5 =
2 e 2%
‘\ioi o /\?’\: 30|
(5.8
Sw= \S%0

8. logy, x +log, (x+1)=1
\055\,, X (x+1) =\

= x (xh)
‘2= x*tx
D= XY ¥RV

= (x %) (x-3)

III.  Solve by either taking the log of both sides OR by rewriting in logarithmic form. Round to the

nearest hundredth when necessary.
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EV. MIX-IT-UP. Pick the best method to use and then solve. Round to two decimal places.
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